O R R4k B ILZ

BAfER : 20245028058 (A) ITHEIR  /8— x 2 (FTI/—) HBEMELAL: 2 3 45 8 9
AB - 1858 (BtE: 1728 %iE:134) HDCP#IFE : 88 36.0 % 36.0 EByz7 36.0 Zy=7 36.0 B LA 11 12 13 15 16 18
HEAHRX: HRYTF (EULHMITE * 1.5 - 72) * 0.80 BEIERF : v FEEH
g 2 FLa14v—% EFR miE GROSS HDCP NET g &2 FLA4v—4% EFA -1 GROSS  HDCP NET
B OB WE —x #® 40 38 78 10.8 67.2 51 &l & # 43 42 85 10.8 74.2
EEE RE KT ¥ 45 39 84 13.2 70.8 528 A 7 B 43 41 84 9.6 74.4
M EHE R % 43 45 88 16.8 71.2 53f U EET B 42 4 84 9.6 74. 4
Mg BX B # 42 34 76 4.8 71.2 5447 FI B B 41 43 84 9.6 74.4
56 k1A B2 B 38 M 79 7.2 71.8 5541 ChE #:A B 47 43 90 15.6 74.4
6 FE ¥A % 51 45 96 24.0 72.0 56f M Eth % 42 42 84 9.6 74.4
M kI Bk B 40 44 84 12.0 72.0 574 #WE E® B 50 40 90 15.6 74.4
8f ki KE % 39 45 84 12.0 72.0 584 # XK % 43 40 83 8.4 74.6
o WFE Btk # 43 40 83 10.8 72.2 594 A A % 40 43 83 8.4 74.6
10 A ZA = 39 38 77 4.8 72.2 606 SPEF £ 3 45 43 88 13.2 74.8
M2 WA EA E: 41 42 o 83 10.8 72.2 61 = #H2z % 39 37 76 1.2 74.8
126 HE EM B 38 45 83 10.8 72.2 620 M ik #® 49 45 94 19.2 74.8
13 BE {E—5 # M 41 82 9.6 72.4 63 FIL B B 48 40 88 13.2 74.8
146 @% E B 39 43 82 9.6 72.4 64T AR AF % 42 40 82 7.2 74.8
1568 MA B= B 44 56 100 27.6 72.4 654 $7BE HEER % 51 43 94 19.2 74.8
166 FH Eth B 45 49 94 21.6 72.4 66z AM 1815 B 43 38 81 6.0 75.0
176 =€ 8% % 48 46 94 21.6 72.4 674 EM RIE B 42 45 87 12.0 75.0
184 FEA RE B 40 41 81 8.4 72.6 68f W EA B 50 49 99 24.0 75.0
196 EH# IEE # 46 47 93 20.4 72.6 69 EHE F= # 50 49 99 24.0 75.0
20 FIE =R B 46 41 87 14.4 72.6 7042 #E B B 45 48 93 18.0 75.0
21 kM ¥A& B 43 44 87 14.4 72.6 T FEH @t B 47 46 93 18.0 75.0
24 BT &R 1% 50 49 99 26.4 72.6 720 tkRE RE % ! 43 44 87 12.0 75.0
24 ARE BE % 40 40 80 7.2 72.8 73 BE SR B 49 49 98 22.8 75.2
2445 M FIE (£ 40 46 86 13.2 72.8 TA A EF B 40 46 86 10.8 75.2
256 Il 3 % 43 42 85 12.0 73.0 T56 AL SEZER ¥ 47 45 92 16.8 75.2
2647 FE [EEA 1 42 43 85 12.0 73.0 76T LR R # 40 39 79 3.6 75.4
21 PR HE # 44 47 91 18.0 73.0 7ML 8E AR B 49 54 103 27.6 75. 4
28f% 8% {E8A % 44 46 90 16. 8 73.2 786 Wk E—8B % 44 41 85 9.6 75.4
200 I B B 44 40 84 10.8 73.2 794 &k EiE # 49 41 90 14.4 75. 6
30 HEH EH % 39 39 78 4.8 73.2 80k RUE 4 B 48 48 96 20.4 75.6
3 ME MK B 42 47 89 15.6 73.4 8ifr |l BE % 45 45 90 14.4 75. 6
20 RH* EHE # 43 46 89 15. 6 73.4 821 KNl & B 45 45 90 14. 4 75.6
33 L HEY B 48 47 95 21.6 73.4 83f HH BF #® 47 43 90 14.4 75.6
34 BKR BF # 44 45 89 15. 6 73.4 84y TR BEE % 46 44 90 14.4 75.6
35l BH B B 42 47 89 15.6 73.4 85 A AT i 41 42 83 7.2 75.8
3Bl ER BHK B 39 43 82 8.4 73.6 864 I HH e 41 42 83 7.2 75.8
ML EE % 44 44 88  14.4 73.6 8T % HEH o 45 50 95 19.2 75.8
Bl HAE A@E # 47 47 94 20.4 73.6 884z LT & B 51 50 101 25.2 75.8
04 it M % 41 41 82 8.4 73.6 84 HED BB # 39 44 83 7.2 75.8
404 BE i 49 51 100 26.4 73.6 00f LA = % 43 40 83 7.2 75.8
M EH IER B 47 46 93 19.2  73.8 91fC WE IBF % 49 45 94 18.0  76.0
420 AH E % 43 38 81 7.2 73.8 9241 RER B B 49 45 94 18.0 76.0
434 A (E B 38 37 75 1.2 73.8 93 LI EA # 48 46 94 18.0 76.0
A48 WK 1R B 43 38 81 7.2 73.8 94f IEM AT % 43 45 88 12.0 76.0
4505 #)I #EE B 47 46 93 19.2 73.8 95f KRB BAE B 54 46 100 24.0 76.0
A6l =R OB B 44 42 86 12.0 74.0 964 k1A M B 45 49 94 18.0 76.0
A BN ER B 44 42 86 12.0 74.0 o7 FEIS EF B 52 48 100 24.0 76.0
48t kH BE 3 44 42 86 12.0 74.0 98fs #iE FIR % 50 56 106 30.0 76.0
49 k1 B2 % 40 39 79 4.8 74.2 99 HH BR B 46 42 88 12.0 76.0
5062 BE Eth B 34 39 73 +1.2 74.2 1006 ®K gz B 44 44 88 12.0 76.0



